

STUDENT'S NAME: DE CHAIYAL

DATE SUBMITTED: 16/04/20

STUDENT'S NAME: ABE OLUWATOSIN TAYOBE

DEPARTMENT: MECHANICAL

MATRICE NO: 191EMAS1001

Assignment

1. Derivative of the following using first principle

b. $y = \frac{4}{x^3}$

Solution

$$y = \frac{4}{x^3}$$

$$y + \Delta y = \frac{4}{(x + \Delta x)^3}$$

$$\Delta y = \frac{4}{(x + \Delta x)^3} - \frac{4}{x^3}$$

$$\Delta y = \frac{4x^3 - 4(x + \Delta x)^3}{x^3(x + \Delta x)^3}$$

$$\Delta y = \frac{4x^3 - 4(x^3 + 3x^2\Delta x + 3x\Delta x^2 + \Delta x^3)}{x^3(x + \Delta x)^3}$$

$$\Delta y = \frac{4x^3 - [4x^3 + 12x^2\Delta x + 12x\Delta x^2 + 4\Delta x^3]}{x^3(x + \Delta x)^3}$$

$$\Delta y = \frac{-12x^2\Delta x - 12x\Delta x^2 - 4\Delta x^3}{x^3(x + \Delta x)^3}$$

$$\Delta y = \frac{-12x^2\Delta x - 12x\Delta x^2 - 4\Delta x^3}{x^3(x + \Delta x)^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12[x^2 + x\Delta x] - 4\Delta x^2}{x^3(x + \Delta x)^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12[x^2 + x\Delta x] - 4\Delta x^2}{x^3(x + \Delta x)^3} \times \frac{\Delta x}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12[x^2 + x\Delta x] - 4\Delta x^2}{x^3(x + \Delta x)^3}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{-12[x^2 + x(0)] - 4(0)}{x^3[x + (0)]^3}$$

$$= \frac{-12x^2}{x^3(x^3)} = \frac{-12x^2}{x^6}$$

$$= 12x^{-4}$$

1. Derivative of the following using first principle.

$$y = \sin\left[\frac{3}{x^2}\right]$$

Solution

$$y = \sin\left[\frac{3}{x^2}\right]$$

$$y + \Delta y = \sin\frac{3}{(x+h)^2}$$

$$\Delta y = \sin\frac{3}{(x+h)^2} - \sin\frac{3}{x^2}$$

$$\text{Recall } \sin A - \sin B = 2 \cos \frac{A+B}{2} \sin \frac{A-B}{2}$$

$$\frac{A+B}{2} = \frac{3}{(x+h)^2} + \frac{3}{x^2}$$

$$= \frac{3x^2 + 3(x+h)^2}{2(x+h)^2 x^2}$$

$$\frac{A-B}{2} = \frac{3}{(x+h)^2} - \frac{3}{x^2}$$

$$\frac{3x^2 - 3(x+h)^2}{2(x+h)^2 x^2} = \frac{-6xh - 3h^2}{2(x+h)^2 x^2}$$

$$\frac{\Delta y}{h} = \frac{2 \cos\left[\frac{3x^2 + 3(x+h)^2}{2(x+h)^2 x^2}\right] \sin\left[\frac{-6xh - 3h^2}{2(x+h)^2 x^2}\right]}{h}$$

$$2 \cos\left[\frac{3x^2 + 3(x+h)^2}{2(x+h)^2 x^2}\right] \sin\left[\frac{-6xh - 3h^2}{2(x+h)^2 x^2}\right] \times \frac{-6x - 3h}{2(x+h)^2 x^2}$$

$$h \rightarrow 0 \quad h\left[\frac{-6x - 3h}{2(x+h)^2 x^2}\right]$$

$$2 \cos\left[\frac{3x^2 + 3(x+h)^2}{2(x+h)^2 x^2}\right] \times \frac{-6x - 3h}{2(x+h)^2 x^2}$$

$$\cos\left[\frac{3x^2 + 3(x+0)^2}{2(x+0)^2 x^2}\right] = \frac{6x - 3(0)}{(x+0)^2 x^2}$$

$$\cos\left[\frac{3x^2 + 3x^2}{2x^2}\right] = \frac{-6x}{x^4}$$

$$\frac{-6x}{x^4} \cos \frac{6x^2}{2x^4}$$

$$= \frac{-6}{x^3} \cos \frac{3}{x^2}$$

2. Integral of the following.

i. $\frac{dx}{(x^2+36)}$

ii. $\frac{dx}{(x^2+16)}$

SOLUTION

i. $\frac{dx}{(x^2+36)}$

$$\int \frac{dx}{x^2+36} = \int \frac{dx}{x^2+6^2}$$

$x = 6 \tan \theta$

$$\frac{dx}{d\theta} = 6 \sec^2 \theta$$

$$dx = 6 \sec^2 \theta d\theta$$

$$\begin{aligned} x^2+6^2 &= 6^2 \tan^2 \theta + 6^2 \\ &= 6^2 (\tan^2 \theta + 1) \\ &= 36 \sec^2 \theta \end{aligned}$$

$$= \int \frac{6 \sec^2 \theta d\theta}{36 \sec^2 \theta} = \int \frac{d\theta}{6} = \frac{1}{6}$$

$$= \frac{1}{6} [\theta] + c$$

$$= \frac{1}{6} \tan^{-1} \frac{x}{6} + c$$

11.

$$\int \frac{dx}{x^2+13}$$

$$\int \frac{dx}{x^2+13} = \int \frac{dx}{(x^2 + (\sqrt{13})^2)}$$

$$x = \sqrt{13} \tan \theta$$

$$\frac{dx}{d\theta} = \sqrt{13} \sec^2 \theta$$

$$dx = \sqrt{13} \sec^2 \theta d\theta$$

$$[x^2 + (\sqrt{13})^2] = (\sqrt{13})^2 + \tan^2 \theta + (\sqrt{13})^2$$

$$= (\sqrt{13})^2 [\tan^2 \theta + 1]$$

$$= 13 \sec^2 \theta$$

$$= \int \frac{\sqrt{13} \sec^2 \theta d\theta}{13 \sec^2 \theta}$$

$$= \int \frac{d\theta}{\sqrt{13}} = \frac{1}{\sqrt{13}} \int d\theta$$

$$= \frac{1}{\sqrt{13}} [0] + c$$

$$= \frac{1}{\sqrt{13}} \tan^{-1} \frac{x}{\sqrt{13}} + c$$